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i. State fully what is meant by the
following terms, and give examples in
iltustration of your statements:

(a) Chemical compound.
(b) Chemical change.
(c) Physical change.

2. (a) How would you prepare dry
Oxygen ?

(b) What weights of materials
would you require to fur-
nish 1o litres of the gas
measured under normal
conditions?

3. State in words, all the facts that
are expressed by the following equa-
tion :-

Zn + 2HCI = ZnC 2 + H2

4. Make the following calcula-
tions:-

(a) The percentage composition
of washing soda, from, the
formula, Na2 C0 3 , ioH2 O.

(b) The formula of a substance
which gives the following percentage
numbers on analysis :-

Sodium........ 18.55
Sulphur... ... . . 25.8*I
Oxygen.. ...... 19,35
Water...... .... 36.29

(Na= 23; S = 32; C = 12;)

5. Give a general sketch of the
chemistry of Sulphur, under the fol-
lowing heads :

(a) Occurrence and properties.
(b) Compounds wita Hydrogen.
(c) Compounds with Oxygen.

6. Ten litres of ai. is contained ir
a closed glass vessel at a temperature
of 60° C. and a pressure of 700 mm.
barometer. Make the following cal-
culations :-

(a) The pressure on the sides of
the vessel, if the temperature
be raised to roo° 0.

(b) The weight of air in vessel.
(Density of air in terms of Hydrogen;

is 14.44.)
7. Describe experiments that may

be done with Ammonia, and state the
conclusions as to its composition' and
properties which are justified thereby.

The following are answers to the
< uestions of the preceding paper :-

i. (a) A chemical compound is a.
substance whose molecule is com-
posed of dissimilar atoms.

Water is an example of a chemical
compound, because its molecule is
composed of two atoms of hydrogen,
and one atom of oxygen.

(b) A chemical change is one
in which the substances formed have
properties different from those of the
original substance.

The burning of wood is a chemical
change, because the substances formed
and the residual ash have properties
different from those of the wood.

(c) A physical change is one in
which the condition but not the com-
position of a substance is changed.

The boiling of water is a physical
change because, wliile the substance
is changed from a liquid to a gas, its
composition is not changed ; it is still
composed of hydrogen and oxygen in
the same-proportions as in the liquid
form.

2. (a) Dry oxygen may be prepar-
ed by heating together a quantity of
manganese dioxide and potassic
chlorate, and collecting the product
over mercury. To ensure thorough
dryness the gas should be passed
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